Quiz 5
BIOL 100
1. A cross between homozygous purple-flowered and homozygous white-flowered pea 
plants results in offspring with purple flowers. This demonstrates 


A) the blending model of genetics

B) true-breeding 


C) dominance 


D) a dihybrid cross 

2.  Tall (T) is dominant to short (t).  A plant is heterozygous tall.  What is the plants genotype for this trait?

A) TT

B) Tt

C) tt

D) None of these
3.  Brown eyes (B) are dominant to blue eyes (b).  A woman has blue eyes.  What are the possible gametes she can produce for this trait?

A) B and B

B) B and b

C) b and b

D) none of these
4.  Males are more often affected by sex-linked traits than females because 


A) males are hemizygous for the X chromosome. 


B) male hormones such as testosterone often alter the effects of mutations on the 


X chromosome. 


C) female hormones such as estrogen often compensate for the effects of 



mutations on the X. 


D) X chromosomes in males generally have more mutations than X chromosomes 

in females. 


E) mutations on the Y chromosome often worsen the effects of X-linked 



mutations

5.  What was the most significant conclusion that Gregor Mendel drew from his 
experiments with pea plants? 


A) There is considerable genetic variation in garden peas. 


B) Traits are inherited in discrete units, and are not the results of "blending." 


C) Recessive genes occur more frequently in the F1 than do dominant ones. 


D) Genes are composed of DNA. 


E) An organism that is homozygous for many recessive traits is at a disadvantage.

6. Two plants are crossed, resulting in offspring with a 3:1 ratio for a particular trait. 
This suggests 


A) that the parents were true-breeding for contrasting traits. 


B) incomplete dominance. 


C) that a blending of traits has occurred. 


D) that the parents were both heterozygous. 


E) that each offspring has the same alleles

7. SRY is best described in which of the following ways? 


A) A gene region present on the Y chromosome that triggers male development 


B) A gene present on the X chromosome that triggers female development 


C) An autosomal gene that is required for the expression of genes on the Y 


chromosome 


D) An autosomal gene that is required for the expression of genes on the X 


chromosome 


E) Required for development, and males or females lacking the gene do not 


survive past early childhood

8. When crossing an organism that is homozygous recessive for a single trait with a 
heterozygote, what is the chance of producing an offspring with the homozygous 
recessive phenotype? 


A) 0% 


B) 25% 


C) 50% 


D) 75% 


E) 100% 

9.  In cats, black fur color is caused by an X-linked allele; the other allele at this locus 
causes orange color. The heterozygote is calico (tortoiseshell). What kinds of 
offspring would you expect from the cross of a black female and an orange male? 


A) Calico females; calico males 


B) Black females; orange males 


C) Orange females; orange males 


D) Calico females; black males 


E) Orange females; black males

10.  Red-green color blindness is a sex-linked recessive trait in humans. Two people with 
normal color vision have a color-blind son. What are the genotypes of the 
parents? 

A) XcXc and XcY

B) XcXc and XCY 


C) XCXC and XcY 


D) XCXC and XCY 


E) XCXc and XCY 
11.  The fact that all seven of the pea plant traits studied by Mendel obeyed the principle 
of independent assortment most probably indicates which of the following? 


A) None of the traits obeyed the law of segregation. 


B) The diploid number of chromosomes in the pea plants was 7. 


C) All of the genes controlling the traits were located on the same chromosome. 


D) All of the genes controlling the traits behaved as if they were on different 


chromosomes. 


E) The formation of gametes in plants occurs by mitosis only
12.  A trait like height shows a bell curve distribution in a population.  What type of 
inheritance is this an example of?
A) Pleiotropy

B) X-linked inheritance

C) Polygenics

D) Incomplete dominance
13.  Black fur in mice (B) is dominant to brown fur (b). Short tails (T) are dominant to 
long tails (t). What fraction of the progeny of the cross BbTt × BBtt will have 
black fur and long tails? 


A) 1/16 


B) 3/16 


C) 3/8 


D) 1/2 


E) 9/16 
 14.  In snapdragons, heterozygotes for flower color have pink flowers, whereas 
homozygotes have red or white flowers. When plants with red flowers are crossed 
with plants with white flowers, what proportion of the offspring will have pink 
flowers? 


A) 0% 


B) 25% 


C) 50% 


D) 75% 


E) 100%

15.  What type of inheritance is seen in #14 above?


A) Standard dominant/recessive


B) Codominance


C) Incomplete dominance


D) X-linked inheritance
